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Multiplication 3 by 4 (In Grid)- Step-by-Step Lesson 

Multiply numbers below: 

  8 5 9 3 
 x  8 6 7 

      
 

Explanation: 

First we multiply 7 by 8593. So we get 

8593 

x   7 

60151 

Then we multiply 6 by 8593.  

8593 

x  67 

60151 

51558x   The 6 is in the tens place, so we place an x to know a 0 will appear. 

Now we multiply 8 by 8593. So we get 

 8593 

x 867 

60151 

51558x 

68744xx   The 6 is in the hundreds place, so we place an xx to know a 00 will appear. 

7450131 

 

So the answer is: 7,450,131 

 

 


